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[1-5-5] =75 F—PCBD 9 & 3,344 5047 un 7=/ (#126)

- KA (BT : pg/m?)

FHALESE 2014 EEHE
WHBEE (M —2) @ 29/36(K % : 0) ST L5 i tr(0.015)
BHsEE (gk~—2) : 29/36(K iM% : 0) gL fiE tr(0.013)
R T RRAE : 0.009 ERE 0.063
JE & FBRAHE : 0.027 s/ ME nd
T B VR 3] Fo T —
Hh 5 N SRR A E) A A Hh AT e
0/18~9/24 tr(0.009) MV
JbiEiE 1 [PIRAEE)R (J1h)
9/16~9/17 nd HV
FLIR T 2 |[fLiE=fT o (RLigT) 9/17~9/18
9/18~9/19
9/1~9/2 nd HV
AFE 3 |MEERX—4 (FAHT) 9/2~9/3
9/3~9/4
9/2~9/9 tr(0.013) MV
B 4 |EHRALE ARG (AT
9/2~9/9 tr(0.011) MV
R 5 |ARBREZERER Y — (Li#ET)
9/2~9/9 0.028 MV
EEY 6 |BERIRBTEBRBEAITEAT (RiKGTH)
9/25~10/2 tr(0.011) MV
THER 7 | MR R BRBE RS E R (R
9/3~9/10 tr(0.025) MV
8 | B RHCBRELARIEAITEAT (JLIRIX)
HORAS 10/19~10/26 nd MV
9 INEEARE
9/8~9/9 0.041 HV
iy 10 |[MRJINRERER Y22 — (F&N) 9/9~9/10
9/10~9/11
9/1~9/8 tr(0.023) MV
R 11 |BRE TR BER A gE AT (i)
8/25~8/26 tr(0.016) HV
iR R 12 [ RIL—ERERKBIER Brig) 8/26~8/27
8/27~8/28
8/25~8/26 0.043 HV
LR 13 | — AR EREE R RME R (WhE ) 8/26~8/27
8/27~8/28
9/8~9/9 nd HV
)11 14 AR EEREEE v % — (&) 9/9~9/10
9/10~9/11
8/26~8/27 0.028 HV
(LAY IR 15 [ IIAL R A R BRI ST T (HR ) 8/27~8/28
8/28~8/29
9/2~9/9 tr(0.021) MV
EEE 16 |R¥FIRBREIR e (RE )
9/16~9/17 tr(0.011) HV
Mty 2. I 17 | RIRERAEBR BERF TR AT (4515 T) 9/17~9/18
9/18~9/19
0/17~9/24 tr(0.013) MV
i 18 | TR ERIAR (4 HRT)
9/1~9/2 tr(0.010) HV
=R 19 |=EEREBREEMZEET (WA T 9/2~9/3
9/3~9/4
- po [HAARSTAT B A K IR R A A PR £ P 0.036 HV
BFZERT KB oo/
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